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SSC CHSL SUNDAY QUANT (Solutions)

S1. Ans.(c)

Sol.

3sinf = 2 cos’@
Take 8 = 30°

3

w =
4

ba | LB | W
ra B3 Ry

tan® + cosB + =inf
1 VET |
==+—+=-=
ETR S
_ 2443(V341)
243
_53#3
&

1, W3+l
= + -
N :
_ 243+V3 5443 43
2v3 3

S2. Ans.(c)
Sol.

6x—4 _ &

Sx-4 4

Xx=4

.. present ages = 24 and 20
After 12 years = 36 and 32

. Ratio=—= =2

3z 8
S3. Ans.(c)
Sol.
A 42 .
B 34/'—\{—24
C 287

A (A+B) (A+B+C)

Work 6 6 E4;12 = % = 12 days.
done. In in

3 days 2 days
S Aworkedfor=12+3 + 2 =17 days.

S4. Ans.(c)
Sol.

2012 = 325-250
250

=75 = 300
20 % 100 = 309

x 100
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S5. Ans.(c)
Sol.

a+h+c=4
az+b2+c2=15—2[1]=14

Soa+b®+c'-3abe=(a+b+c)(a®+b®+c* -ab—bc—ca)

= 4{14-1)
=4x13=52
S6. Ans.(a)
Sol.
Income Expenditure
100 90
+25.5% ( +25%
125.5 112.5
S7.Ans.(a)
Sol.

or(A4ABC) _ 9
or(APQR) 16
AB 3
pg 4

A 3unit =12
lunit=4

~PQ-4-4x4=16cm

S8. Ans.(d)
Sol.
A B 3
8
S Q 11
D R 5 C
CR=QC=5cm

~BQ=11-5=6cm=PB
AS=AP=8cm
~ABE=AP+PE=8+6=14cm

Saving
10
+30%
13
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S9. Ans.(b)

Sol.

3 cos’A+6sinA=3
3cos’A+6-6¢cos’A=3
3 =3 cos’A

cosA=1

A=0°

$10. Ans.(a)
Sol.

A

1‘10 2,5-:1
B D E C
ZDAE = (4B - £C)
2z

=1 _
==(72-26)

=1x46
2

=23°

S$11. Ans.(c)

Sol.

. 1004125 225 5§
Ratio = = =

135 135 3

$12. Ans.(b)
Sol.

A+B-16 <0

A+C-32 % 96

B+C-24 7

 Efficiency by solving the above equations.
A=5/2,B=7/2,C=1

When they work combinely for 12 days

then work done = 12_3 ® 12 =78

~ Remaining work=96-78=18
~ Remaining work done by C = % = 36 days.
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$13. Ans.(d)
Sol.

a’ +b® + 2ab =25
a®+b%=(a+b)(a®+b*-ah)
110 = 5 (25 - 2ab - ab)
22=25-3ab

ab =1

~(a+b)*-3ab=25-3=22

S$14. Ans.(a)

Sol.
S0+140

100+70+4+1104+125+95

=2 v 100
500

= 4504

100

$15. Ans.(a)

Sol.
A+B=96

A B

140 100

@ - @ —>12-96

/:‘8 /::H 1-8
56 40

Average ratio

A B

2x 3x
ATQ=96x58=56=x=2x+40 = 3x
96 = 58 = 232x
x=24
. Averageof B=24x3=72kg

$16. Ans.(d) TEST SERIES
Sol. Bilingual

a+b+c=5

a? +b? + ¢ = 33 SSC CGL TIER-I

(a+b+c)*=a*+b*+c®+2(ab+bc+ca)

ab+bc+ca=-4 2016-18

a*+b®+c®-3abc=(a+b+c)
(a®+b*+c-ab-bc-ca)

=5x (33 +4) 99 Full Length Mocks
=5x 37

=185 Validity : 12 Months

Previous Year Questions
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$17. Ans.(b)
Sol

40v/5x% — 34/3y® = (2/5x —/3y) X (Ax? + Bxy + Cy?)
(2v5x)" — (V3y) = (2v5x — V3y)(20x% + 2/T5xy + 3y%)
A=20,B=215,C=3

~VB24+C2—A=+60+9-20

=449 =7

$18. Ans.(c)
Sol.
P =4096,T = gyears, R=15%
For 10 monthly-
T=§>< 12 =30 =10+ 10 + 10 = 3 years
R=2Xx10=125%=:%
1/8

—_—
4096 512-1/8
1

512 64 /
512 1251—\3

CI=512x3+64+128+8=1736

8

$19. Ans.(c)
Sol.

_ Y _ 42

(B4+52)x—

1E
wox

— = =12

(B4+52)x—
13

x=272m
$20. Ans.(b)
Sol.

.- 135-110 % 100

- 110

$21. Ans.(b)
Sol.

x*+1=3x
x+21=3

X

w4 _ (=2 +5) _ x4
x24+5x+1 gx 8
_27-9 _18 _3_,1

8 8 4 4
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$22. Ans.(b)
Sol.
S F

9 S 7 63 35/ 1-2
. Total number of candidates =70=x 2+ 28 % 2

=140 + 56
=196

$23. Ans.(d)
Sol.

A D

¢

B
C

AExEB=EC = ED
18« EB=12+6
EE=4cm

S$24. Ans.(b)
Sol.

C

90°

A M B
CM?* = AC* + AM?
CM? = ACZ + ﬁ‘TE'! ()
BL® = AL® + AB*
BL® = ”‘Tcz + AB®  ..(ii)
Add eq” (i) + eq™ (ii)
CM? + BL? =Ac2+‘:iz+"“TEE+AB'~’-
4(CM*® + BL*) = 5 [(AC® + AB?)
4(CM*® + BL*) = 5BC*?

$25. Ans.(c)

Sol.
2nirh = 440

nrh =220
svolume=mrhxr=220x 7
= 1540 cm®

Bilingual

SSC CGL T-I

Most Expected
Questions

15 Full Length Mocks
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$26. Ans.(c)
Sol.

(cos 9+gin 81)(sec 9°+cosec B1°)

gin 56 sec 34+cos 25° cogec 657
2 2in 81%2 cosec B1

gin 56 cosec 56+cos 25 sec 25

T 141

$27. Ans.(a)
Sol.
Avg. of B,Cand E S
===115
» Required% = ==X 100
=2 %100
125
= 8%
$28. Ans.(d)
Sol.
zing 1+cos8 1
(J.-I-cusE t gind )(tanEh:ntE)
_ ainfﬂ-l-1+cusfﬂ+2cnsﬂ % sinB cosh
zinB(1+coz8)
_ 2{14co=8)
- (1+cos8) X cos@
=2 cosB
$29. Ans.(d)
Sol.

3-2sin*#-3cosB=0
3-2+2cos’8-3cosB=0
2cos’@-3cosB+1=0
2cos’B-2cosP-cosB+1=0
2cosB (cosB-1)-1(cosB-1})=0
(2cosB-1) (cosB-1)=0
~2cosB=1

cosB = é

8=60°{ 0°<B<90°

s 2 cosecB + tand

= 2 cosect0?® + tand0”

4 4+3 7 73
=:+‘u'3=—._=—._=—
V3 V3 v3 3
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$30. Ans.(a)

12 Months Subscription
Sol.
C.P S.P

4500__ 5220 l\

+16%
5800 5220
_ -10%
10300 10440

e—  — Useful for CGL, CHSL & others
gain = 140

TEST PACK
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